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#%E (S &ITLNT> 0.0% 0.0% 0.0% 0.0% 97. 5% 2.5% 0.0% 100. 0%
HE#HHI LY Y— (SRO) & 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
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Sihig 4 0 0 14 174 40 1 833
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4335 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0. 0%
Sithig 0.5% 0.0% 0.0% 1.7% 92. 9% 4.8% 0.1% 100. 0%
63th ik 0.0% 0.0% 0.0% 3.0% 91. 5% 5.2% 0.3% 100. 0%
Tih i 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0. 0%
8ith iz 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0. 0%
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ayvyy—kJawsy (CB) & 0 0 0 0 0
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HFFavo)—F (RO & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
a2 )—Fk (RC) &<TLNDD 0.0% 0.0% 0.0% 0.0% 0. 0%
#E (S & 0.0% 0.0% 0.0% 0.0% 0. 0%
#H®E (S) ETLNTD 0.0% 0.0% 0.0% 100. 0% 100. 0%
HEHmar Y )— kK (SRC) & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
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SESKHaY)— bk (SRC) & 0 0 0 0 0
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HFFavo)—F (RO & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
a2 )—Fk (RC) &<TLNDD 0.0% 0.0% 0.0% 0.0% 0. 0%
#E (S & 0.0% 0.0% 0.0% 0.0% 0. 0%
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it iz 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
4335 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
Sithig 0.0% 0.0% 0.0% 0.0% 100. 0% 0.0% 0.0% 100. 0%
63th ik 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
Tih i 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
8ith iz 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
a5t 0.0% 0.0% 0.0% 0.0% 100. 0% 0.0% 0.0% 100. 0%

SIOEEERETEMREIEE BE) 7—F (EEUESE - RTHR)



